S s
‘  Unity-Healthcare ) _

%paBath Company

Unity-Healthcare Solutions
25967 Conifer Road Conifer, CO 80433
Ph: 303-838-7320 ~ Fax: 303-838-4550

Item Description u/m Part Type
001109 Valance Latch, Lower, Door Tracks Each (ea) Valance Bracket
001112 Valance Hanger, Left Inner Each (ea)  Chassis
001113 Valance Hanger, Right Inner Each (ea) Chassis
001206 Assist Handle Finished Each (ea) Body
001210 Exterior Panel, Left Side Each (ea)  Accessories
001220 Exterior Panel, Back Each (ea)  Accessories
001230 Exterior Panel, Right Side Each (ea)  Accessories
002111 Bracket, Hose & Wire, 1/2" Each (ea) Body
002114 Bracket, Hose & Wire, 1 1/4" Each (ea) Body
002904 Foot, Leveling Each (ea)  Chassis
002912 Adhesive (Cream) 50ML Milliliter (ml) Shop Supplies
002914 Mixer 5.3/24 Bayonet Each (ea)  Shop Supplies
101101 Seal Retainer Each (ea) Body
101103 Seal Retainer Gasket Each (ea) Body
101111 Seal, Primary (Inner) Each (ea) Body
101112 Seal, Secondary (Outer) Each (ea) Body
101121 4MM x 6MM Unequal Union Elbow Each (ea) Controls
101904 Adhesive Tape, Seal Retainer foot (ft) Shop Supplies
201110 Alignment Swivel, Tambour End Cap, Door Tracks Each (ea) Body
201111 Lock Pin, Door Each (ea) Body
201112 Lock Pin Bushing, Door, Outer Each (ea) Door
201113 Lock Pin Bushing, Door, Inner Each (ea) = Door
201115 Tambour Lock Plate, Door Each (ea) Body
201903 UHMW Tape, Drive Motor 7.625" length Each (ea) Shop Supplies
201906 UHMW Tape, Door Track, Chassis Assembly - 11 ft length Each (ea) Shop Supplies
203143 Belt Clamp Bracket, RH Each (ea)  Chassis
203144 Belt Clamp Bracket, LH Each (ea) Chassis
203145 Retainer Clip, Drive Belt, Retaining Clamp Each (ea) Body
203146 Retaining Clamp, Retainer Clip, Drive Belt Each (ea) Chassis
203156 Bumper, Door Stop Each (ea)  Chassis
203921 Belt, Drive foot (ft) Body
301108 Drain Flange Each (ea) Body
301111 Drain Cover Each (ea) Body
301116 Spout, Waterfall, Wall Mount Each (ea)  Wall Fixtures
301126 High Water Level Sensor Main Body Each (ea) Body
301127 High Water Level Sensor Cap Each (ea) Body
301131 Spout, Waterfall, Deck Mounted Each (ea) Integrated
301140 Drain Body Shield Each (ea)  Chassis
301166 Delta 7' Roman Leader Hose Each (ea) Integrated
301176 3/4" Solenoid Valve, AC110v, Soft-close, 60 Hz Each (ea) Integrated
301180 Ultra-Flex Hose- 24" Each (ea) Integrated
301186 Shower Hose, Chrome Each (ea) Integrated
301188 Conical Nut, Chrome Each (ea) Integrated
301190 Shower Wand Each (ea) Integrated
301192 Esctucheon Hand Shower Base, Chrome Each (ea) Integrated



301194
301915
301916
301918
301919
301921
301922
301923
301924
301925
301926
301927
301928
301929
401112
402002
402010
402011
402012
402013
402110
402111
402112
402113
402114
402115
402150
402152
402220
402225
402230
402240
402250
402255
402260
402270
402280
402290
500012
500020
500030
500040
500050
500060
500070
500080
500090

Hand Spray Nest, HS Nest

Chrome 1/2" Wall Union

Atrio Lever VIm Cntrl Trim

Euphoria 24" Bar

Relexa Ultra Champagne Hand Shower

59" Duralife Metal Hose

3/4" VVolume Control Rough-In

1/2" Volume Control Rough-In

Thermostatic Rough-In 3/4" US

1/2" X 1/2" Inline Vacuum Bkr

Body Sleeve

Atrio Escutcheon Plate

Atrio Handle Hud, Temperature Scale

Atrio Handle/Lever

Field Test Keypad Overlay......

Control Unit

Cable, Integrated with Therapy

Cable, Integrated no Therapy

Cable, Wall-Mounted with Therapy

Cable, Wall-Mounted no Therapy

Display - Integrated - with Therapy & Blower
Display - Integrated - no Therapy, with Blower
Display - Integrated - no Therapy & no Blower
Display - Wall-Mounted - with Therapy & Blower
Display - Wall-Mounted - no Therapy, with Blower
Display - Wall-mounted - no Therapy, no Blower
Fill Temperature Probe

Bath Temperature Sensor

Optical Door Safety Switch

Mounting Bracket for Door Safety Switch
Reflector for Optical Door Safety Switch

Door Jam Sensor

Capacitive Water Sensor

Door Position Sensor (up/down/transfer)

Door Service Switch

Valve Control Unit

Chassis Ground Wire

Waterproof Emergency Dump Switch

Blower- No Electronics..

Manifold Kit

Hose, 1 1/4" X 42"

Air Jet with Ball Check Valve, Brass 1" (24 Hole Cap)
Air Jet "L" Fitting, 1/2"

Air Jet "T" Fitting, 1/2"

Air Jet with Spring Check Valve,7/8" Brass, (1 Hole Cap)
Air Jet "L" Fitting, 3/8"

Air Jet "T" Fitting, 3/8"

Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea

Each (ea

Pl e e = e N e R e e e = e e e e e =N e e e e = = e e e e el e e e e N R = e e e e e e

Each (ea

Integrated
Wall Fixtures
Wall Fixtures
Wall Fixtures
Wall Fixtures
Wall Fixtures
Wall Fixtures
Wall Fixtures
Integrated
Wall Fixtures
Wall Fixtures
Wall Fixtures
Wall Fixtures
Wall Fixtures
Tech Docs
Controls
Controls
Controls
Controls
Controls
Controls
Controls
Controls
Controls
Controls
Controls
Integrated
Integrated
Controls
Controls
Controls
Controls
Body
Controls
Controls
Integrated
Controls
Body
Controls
Body
Controls

Air Massage
Air Massage
Air Massage
Air Massage
Air Massage

Air Massage



500100
500110
500120
500130
500150
500160
501020
502010
502020
502030
502040
502050
502055
800000
800005
800010
800015
800020
800025
800027
800030
800035
800040
800042
800045
800050
800055
800060
800080
800085
800090
800100
800105
800110
800115
800120
800125
800130
800135
800145
800150
800160
800165
800170
800175
800180
800185

Hose, 1/2" PVC Flexible

Hose, 3/8" PVC Flexible

Fitting, Barbed Tee, 3/8"

Union, Barbed, 3/8"

Jet Cap, White ABS, Salt & Pepper

Jet Cap, White ABS, 1 hole

Lights, Chromatherapy

Bowl, External, Aromatherapy

Bowl, Internal, Aromatherapy

Tube, Aromatherapy

Cap, Bowl, Aromatherapy

Bracket, Bowl, Aromatherapy

Locknut, Bracket, Aromatherapy

#10-24 x 1/2" 18-8 S/S Phillips Pan Head Machine Screw
#10-24 NM 316 S/S Nylon Insert Lock Nut

#10 18-8 S/S Small OD Flat Washer

#10-24 18-8 S/S Wing Nut

#10-24 x 1" 18-8 S/S Phillips Pan Head Machine Screw
#10-24 x 1" 18-8 S/S Unslotted Hex Trim Head Machine Screw
Upper Water Level Sensor - 1/4-20 x 1 S/S FH Screw
#10-24 x 1" 18-8 S/S Phillips Flat Head Machine Screw
#10-24 NM 18-8 S/S Nylon Insert Lock Nut

5/16"-18 x 7/8" 18-8 S/S Socket Cap Screw

5/16"-18 x 2" 18-8 S/S Socket Cap Screw

#10-32 x 1-3/8" 18-8 S/S Pan Head Phillips Machine Screw
#10-32 18-8 S/S Keps Lock Nut With External Tooth Lockwasher
#10-32 x 1-1/4" Zinc Plated Phillips Pan Head Machine Screw
#10-32 Zinc Finish Grade Keps Lock Nut With External Tooth Lockwasher
#8-32 NTM 18-8 S/S Jam Nylon Insert Lock Nut

#8-32 x 1" 18-8 S/S Button Socket Cap Screw

#8 18-8 S/S Small OD Flat Washer

1/4" Shidr x 1/4" S/S Socket Head Shoulder Screw

#8-32 x 1/2" 18-8 S/S Phillips Pan Head Machine Screw
#8-32 NM 18-8 S/S Nylon Insert Lock Nut

5/16"-18 x 1/2" 18-8 S/S Hex Cap Screw

5/16"-18 x 5/8" 18-8 S/S Hex Cap Screw

5/16" x 3/4" Bright Finish Alloy Steel Standard Dowel Pin
5/16"-18 x 3/4" 18-8 S/S Hex Cap Screw

5/16"-18 x 7/8" 18-8 S/S Hex Cap Screw

5/16"-18 NTE 18-8 S/S Jam Nylon Insert Lock Nut
5/16"-18 NE 18-8 S/S Nylon Insert Lock Nut

3/8"-16 x 1" 18-8 S/S Hex Cap Screw

3/8" 18-8 S/S Small OD Flat Washer

3/8"-16 NE 18-8 S/S Nylon Insert Lock Nut

3/8" 18-8 S/S Medium Split Lock Washer

1/2"-13 x 1-1/4" 18-8 S/S Hex Cap Screw

1/2" 18-8 S/S Small OD Flat Washer

foot (ft)
foot (ft)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
)

Each (ea

Air Massage
Air Massage
Air Massage
Air Massage
Replacement
Replacement
Therapy
Therapy
Therapy
Therapy
Therapy
Therapy
Therapy
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware

Hardware



800190
800200
800215
800220
800225
800230
800235
800255
800265
800275
800280
800285
800295
800300
800310
800315
800325
800330
800335
800340
800345
800360
800365
800375
800380
800385
800390
800395
800410
800415
800425
800430
800435
800445
800455
800465
800470
800475
800485
800490
800495
800500
800510
800515
800520
800525
800530

1/2" 18-8 S/S Medium Split Lock Washer

3/8"-24 18-8 S/S Hex Jam Nut

#020 7/8" ID x 1" OD x 1/16" Dia. Buna-N 70 O-Ring
1/4" x 3" Zinc Hex Head Lag Screw

1/4" Zinc Finish USS Flat Washer

3/8-16 x 1.5 18-8 S/S Tap Bolt

3/8" Zinc Flat Washer

1/4" 18-8 S/S Small OD Flat Washer

5/16" Screw Size, .74" OD, .05"-.07" Thick Nylon 6/6 Flat Washer
3/32" x 3/32" x 1" Undersized 1095 Plain High Carbon Keystock
1/8" x 1/8" x 1' S/S Undersized 304 Keystock

7/16" S/S External Retaining Ring

5/16"-18 x 3" 18-8 S/S Button Socket Cap Screw

3/8" External Retaining Ring S/S

5/16"-18 x 2-1/2" 18-8 S/S Socket Cap Screw

O-Ring Metric Buna-N, 2 mm Width, 9 mm ID

3/8" Silicon Bronze Small OD Flat Washer

3/16" x 3/4 " S/S Clevis Pin

1/16" x 3/8" 18-8 S/S Extended Prong Cotter Pin
3/8"-16 x 1-3/4" 18-8 S/S Hex Cap Screw

#10-24 x 3/4" 18-8 S/S Socket Cap Screw

Bushing, Bronze Flanged..Cast Bronze Bushing
Bushing, Bronze Flanged..Cast Bronze Bushing
Bushing, Bronze, 1/2x5/8x1/4

5/8" External Snap Ring

Spring Plunger, Valance Latch, Lower

#8-32 x 3/8" S/S Self Tap PHPH Screw, Tambour End Cap
1/4"-20 S/S Jam Nylok Nut

1/4-20 S/S Finished Hex Nut

1/4" S/S Internal Tooth Lock Washer

7/16 x 5/8 x 3/4 Flanged Bronze Bushing

3/16" Cord Clamp

1/4-20 x 4-1/4" S/S Hex Head

5/16" S/S Med Split Lock Washer

#10 S/S Internal/External Lock Washer

3/8" x 1 1/4" Zinc Fender Washer

3/8" Zinc Lock Washer

#3 1/8 x 1/2 WDRF Key

Love Joy L50 Shaft Coupler, 8mm Shaft opening

Love Joy L50 Coupler Spider, Buna-N,

M6-1.0 x 12mm set screw

#10 S/S Internal Lock Washer

5/16-18 Spot Weld Nut

M4 0.7 x 10mm S/S Pan Head Phillips Machine Screw
Push-In Grommet, 5/32" ID, 21/64" OD, 7/64" thick for 1/4" Dia Panel Hole
.75 OD x .25 ID x .0625 Thick Rubber Washer

1" Mounting Base

Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
inch (in)

inch (in)

Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea
Each (ea

)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)

Each (ea

Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware
Hardware

Hardware



800535
800540
800545
902701
902702
900600
900610
900620
900700
900900
900940
902730

Yellow Screw Anchor, .200 x .900
Mount Screw, #6 Self Tap x 3/4"
Mil. Spec. Grommet

Drain Poppet

Drain Body

Door

Door Drive

Door Seal

Drain

Wall Plumbing Fixtures

Valance

Old Style trim (covers holes)

(_ Unity-Healthcare )

Unity-Healthcare Solutions
25967 Conifer Road Conifer, CO 80433
Ph: 303-838-7320 ~ Fax: 303-838-4550

Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)
Each (ea)

Hardware

Hardware

Hardware

Replacement Assembly
Replacement Assembly
Replacement Assembly
Replacement Assembly
Replacement Assembly
Replacement Assembly
Replacement Assembly

Replacement Assembly



	Sheet1

